

PREM CHANDRA (*)

Degree of approximation of continuous functions (**)

1 - Definitions and notations

Let $C_{2\pi}$ be the space of all 2π -periodic and continuous functions defined on $[-\pi, \pi]$ and let $E_n^q(f; x)$ be the (E, q) -transform of $s_n(f; x)$, the n th partial sum of the Fourier series of f at x . We write $\omega(\beta; f)$ for the modulus of continuity of f (see [8]; p. 42) and suppose, throughout the paper

$$2\delta < \min\left[\frac{1}{2}\pi, 1/q\right] \quad (q > 0)$$

We also use the following notations:

$$(1.1) \quad 2\varphi_x(u) = f(x+u) + f(x-u) - 2f(x)$$

$$(1.2) \quad P_q^n(u) = (1+q)^{-n} (1+q^2 + 2q \cos u)^{1n}$$

$$(1.3) \quad g(u) - 1 = (1 - q^2 \sin^2 u)^{-1} (q \cos u) \quad (qu < 1)$$

$$(1.4) \quad N = \pi(1+q)/n$$

$$(1.5) \quad b(s) = \tan^{-1} \frac{\sin s}{q + \cos s} \quad (\text{for any real number } s)$$

$$(1.6) \quad A = 2q/(\pi(1+q))^2 \quad (q > 0)$$

(*) Indirizzo: C-315, Vivekanad Colony, IND - Ujjain-456001.

(**) Ricevuto: 18-I-1988.

$$(1.7) \quad E(n, u) = (1+q)^{-n} \sum_{k=0}^n \binom{n}{k} q^{n-k} \sin(k + \frac{1}{2})u$$

$$(1.8) \quad t_r(\theta) = \theta + \frac{r\pi}{n} + \sin^{-1}(q \sin(\theta + \frac{r\pi}{n})) \quad (r = 0, 1, 2)$$

$$(1.9) \quad R_n = \int_{1/n}^{c_n} t^{-1} \|\varphi(t) - \varphi(t_1)\| P_q^n(t) dt$$

where $c_n = n^{-\frac{1}{2}} \log n$ and we write throughout t_r for $t_r(\theta)$, t for $t_0(\theta)$ and $\|\cdot\|$ for the sup-norm with respect to x on $[0, 2\pi]$.

2 - Introduction

In 1910, Lebesgue [4] proved the following

Theorem A. If $f \in C_{2\pi} \cap \text{Lip } \alpha$ ($0 < \alpha \leq 1$), then

$$(2.1) \quad \|s_n(f) - f\| = O\{n^{-\alpha} \log n\}.$$

In 1928, Alexits [1] proved the following along with other results

Theorem B. If $f \in C_{2\pi} \cap \text{Lip } \pi$ ($0 < \alpha \leq 1$), then

$$(2.2) \quad \|\sigma_n^r(f) - f\| = O\{n^{-\alpha} \log n\}$$

where $0 < \alpha \leq r \leq 1$ and $\sigma_n^r(f; x)$ is (C, r) -mean of $s_n(f; x)$.

The case $\alpha = r = 1$ was proved by Bernstein [2]. Theorem B was extended by several workers. For example, see Holland, Sahney and Tzimbarario [5], Mohapatra and Chandra [6].

Recently, we [3] have proved the following

Theorem C. If $f \in C_{2\pi} \cap \text{Lip } \alpha$ ($0 < \alpha \leq 1$), then

$$(2.3) \quad \|E_n^q(f) - f\| = O(n^{-\frac{1}{2}\alpha}) \quad (q > 0).$$

The above results taken together raise the problem as to whether or not the estimate of Theorem B can be obtained by using (E, q) ($q > 0$) means in place of

(C, r) -means. In this paper we answer this question in affirmative (see Corollary 1). In fact we prove a more general result. Precisely we prove the following

Theorem. *Let $f \in C_{2\pi}$ and let $M(y) > 0$ be such that*

$$(2.4) \quad \omega(y; f) = O\{M(y)\} \quad (y > 0)$$

$$(2.5) \quad y^{-1}M(y) \text{ be non-increasing with } y > 0. \text{ Then}$$

$$(2.6) \quad \|E_n^q(f) - f\| = O\{M(1/n) \log n\}.$$

Salem and Zygmund [7] demonstrated that the factor $\log n$ can not be dropt in Theorem A even if, in addition to the hypothesis $f \in \text{Lip } \alpha$, we suppose that f is of bounded variation. In this paper we show that if f belongs to a suitable sub-class of $\text{Lip } \alpha$ ($0 < \alpha \leq 1$), then the factor $\log n$ can be dropt from the estimate by using (E, q) ($q > 0$) means of $s_n(f; x)$ (see Corollary 2).

3 - Lemmas

We shall use the following lemmas in the proof of the theorem.

Lemma 1. *Let $0 \leq u \leq \pi$. Then*

$$(3.1) \quad P_q^n(u) \leq \exp(-Anu^2).$$

For its proof, see Chandra [3], Lemma 1.

Lemma 2. *For $n > 4(1 + q)$ ($q > 0$), we have*

$$(3.2) \quad b(N) > \pi/2n$$

and for $0 < \theta < \delta$

$$(3.3) \quad t_r - t_{r-1} = O(1/N) \quad (r = 1, 2)$$

$$(3.4) \quad 2t_1 - t - t_2 = O(n^{-2})(\theta + \pi/n).$$

Proof. We first consider (3.2). Since $n > 4(1+q)$, therefore $(q + \cos N)^{-1} \sin N < 1$ and hence

$$b(N) = \frac{\sin N}{q + \cos N} - \frac{1}{3} \left(\frac{\sin N}{q + \cos N} \right)^3 + \dots > \frac{2}{3} \frac{\sin N}{q + \cos N} \geq \frac{2 \sin N}{3(1+q)} \geq \frac{\pi}{2n}.$$

The proof of (3.3) may be obtained by the second mean value theorem. Therefore we consider (3.4). We observe that, by the second mean value theorem,

$$2t_1 - t - t_2 = (t_1 - t) - (t_2 - t_1) = \frac{\pi}{n} \frac{q \cos u}{(1 - q^2 \sin^2 u)^{\frac{1}{2}}} - \frac{\pi}{n} \frac{q \cos u'}{(1 - q^2 \sin^2 u')^{\frac{1}{2}}}$$

for some $u \in [\theta, \theta + \pi/n]$ and $u' \in [\theta + \pi/n, \theta + 2\pi/n]$. Hence

$$|2t_1 - t - t_2| \leq \frac{2\pi}{n} \frac{|\cos u - \cos u'|}{(1 - q^2 \sin^2 u)^{\frac{1}{2}}} = O(n^{-2})(\theta + \pi/n).$$

This completes the proof of the lemma.

Lemma 3. Let $0 < \theta < \delta$. Then

$$(3.5) \quad P_q^n(t_1) g(\theta + \frac{\pi}{n}) - P_q^n(t) g(\theta) = O(\frac{1}{n}) \{(\theta + \frac{\pi}{n}) + n \sin t_1\} P_q^n(\theta).$$

Proof. By the second mean value theorem,

$$(3.6) \quad P_q^n(t_1) g(\theta + \frac{\pi}{n}) - P_q^n(t) g(\theta) = \frac{\pi}{n} \left(\frac{d}{dy} \{g(y) P_q^n(t(y))\} \right)_{y=\xi}$$

for some $\xi \in [\theta, \theta + \frac{\pi}{n}]$, where $t(y) = t_0(y)$. Now, by elementary but little tedious computation, we get

$$\frac{d}{dy} \{g(y) P_q^n(t(y))\} = \left(\frac{q(q^2 - 1) \sin y}{(1 - q^2 \sin^2 y)^{3/2}} + g^2(y) \frac{n\alpha^2 \sin t}{4(1 - \alpha^2 \sin^2 \frac{1}{2}t)} \right) P_q^n(t(y))$$

where $\alpha = 2\sqrt{q/(1+q)}$. We observe that $1 - \alpha^2 \sin^2 \frac{1}{2}t$ is equal to $\cos^2 y$ for $q = 1$ and greater than $1 - \alpha^2$ for $q \neq 1$. Hence the right hand side of (3.6) does not

exceed $O(1/n)\{(\theta + \pi/n) + n \sin t_1\} P_q^n(\theta)$ since $P_q^n(y)$ decreases and $\sin y$ increases with y increases. Hence we get the proof of the lemma.

Lemma 4. *Let (2.4) and (2.5) hold. Then*

$$(3.7) \quad \|\bar{\mathcal{F}}\| = O\{M(1/n)\} + O(R_n)$$

where

$$\bar{\mathcal{F}} = \int_{b(N)}^{b(z)} \left\{ \frac{(t_1 - t) \varphi_x(t) P_q^n(t) g(\theta)}{t t_1} - \frac{(t_2 - t_1) \varphi_x(t_1) P_q^n(t_1) g(\theta + \pi/n)}{t_1 t_2} \right\} \sin n\theta d\theta.$$

Proof. We have

$$\bar{\mathcal{F}} = \bar{\mathcal{F}}_1 + \bar{\mathcal{F}}_2 + \bar{\mathcal{F}}_3 + \bar{\mathcal{F}}_4 + \bar{\mathcal{F}}_5 \quad \text{where:}$$

$$\bar{\mathcal{F}}_1 = \int_{b(N)}^{c_n} \frac{(t_2 - t_1)}{t_1 t_2} \{ \varphi_x(t) - \varphi_x(t_1) \} P_q^n(t_1) g(\theta + \frac{\pi}{n}) \sin n\theta d\theta$$

$$\bar{\mathcal{F}}_2 = \int_{c_n}^{b(z)} \frac{(t_2 - t_1)}{t_1 t_2} \{ \varphi_x(t) - \varphi_x(t_1) \} P_q^n(t_1) g(\theta + \frac{\pi}{n}) \sin n\theta d\theta$$

$$\bar{\mathcal{F}}_3 = \int_{b(N)}^{b(z)} \frac{(t_2 - t_1)}{t t_1} \{ P_q^n(t) g(\theta) - P_q^n(t_1) g(\theta + \frac{\pi}{n}) \} \varphi_x(t) \sin n\theta d\theta$$

$$\bar{\mathcal{F}}_4 = \int_{b(N)}^{b(z)} \frac{(t_2 - t_1)(t_2 - t)}{t t_1 t_2} P_q^n(t_1) g(\theta + \frac{\pi}{n}) \varphi_x(t) \sin n\theta d\theta$$

$$\bar{\mathcal{F}}_5 = \int_{b(N)}^{b(z)} \frac{(2t_1 - t - t_2)}{t t_1} P_q^n(t) g(\theta) \varphi_x(t) \sin n\theta d\theta.$$

Now, since $P_q^n(u)$ decreases with u , it is clear by (3.1) that, $\|\bar{\mathcal{F}}_1\| = O(R_n)$. And by (2.4) and (3.2), we get

$$\begin{aligned} \|\bar{\mathcal{F}}_2\| &= O(1) \int_{c_n}^{b(z)} t_1^{-1} M(t_1) \exp(-Ant_1^2) d\theta \\ &= O\{M(1/n)\} \int_{c_n}^z \frac{1}{\theta} \frac{d}{d\theta} (-\exp(-An\theta^2)) d\theta = O\{M(1/n)\}. \end{aligned}$$

However, (3.3), (3.5) and (2.4) yield that

$$\begin{aligned} \|\mathcal{F}_3\| &= O(1/n) + O(1) \int_{b(N)}^{b(\varepsilon)} M(t) P_q^n(\theta) d\theta \\ &= O(1/n) + O(1) \int_{b(N)}^{b(\varepsilon)} t^{-1} M(t) t \exp(-An\theta^2) d\theta = O\{M(1/n)\} \end{aligned}$$

by (2.5), (3.2) and Lemma 1. Also (3.2) and (3.3) yield that

$$\|\mathcal{F}_4\| = O(n^{-2}) \int_{1/n}^{\varepsilon} t^{-3} \|\varphi(t)\| d\theta = O\{M(1/n)\}$$

by (2.4) and (2.5). Finally, by (3.2), (3.4) and Lemma 1, we get

$$\begin{aligned} \|\mathcal{F}_5\| &= O(n^{-2}) \int_{1/n}^{\varepsilon} (\theta + \pi/n) t_1^{-1} P_q^n(t) t^{-1} \omega(t; f) d\theta \\ &= O(n^{-2}) \int_{1/n}^{\varepsilon} \exp(-An\theta^2) \theta^{-1} M(\theta) d\theta = O\{M(1/n)\}. \end{aligned}$$

Now collecting the estimates, we get (3.7).

4 - Proof of the Theorem

We have

$$E_n^q(f; x) - f(x) = \int_0^{\pi} \frac{\varphi_x(u)}{\pi \sin(u/2)} E(n, u) du = \int_0^N + \int_N^{\varepsilon} + \int_{\varepsilon}^{\pi} = I_1 + I_2 + I_3.$$

Then

$$(4.1) \quad \|E_n^q(f) - f\| \leq \|I_1\| + \|I_2\| + \|I_3\|.$$

Now, we get, by using the inequality $\pi \sin(u/2) \geq u$ ($0 \leq u \leq \pi$),

$$(4.2) \quad \|I_1\| \leq \int_0^N u^{-1} \omega(u; f) |E(n, u)| du = O\{M(1/n)\}$$

by (2.4) and (2.5). Also, by Lemma 1, (2.4) and (2.5), we get

$$(4.3) \quad \|I_3\| \leq \int_{\varepsilon}^{\pi} u^{-1} \omega(u; f) \exp(-Anu^2) du = O\{M(1/n)\}.$$

Finally, since $\sin(n + \frac{1}{2}u) = \sin(\frac{1}{2}u)(\cos nu + \sin nu \cot(\frac{1}{2}u))$ and $\cot(\frac{1}{2}u) = O(u) + 2/u$ ($0 < u < \pi/4$), we get

$$(4.4) \quad \begin{aligned} \pi \|I_2\| &\leq \int_{1/n}^{\frac{1}{2}} \omega(u; f) P_q^n(u) du \\ &+ \left\| \int_N^{\frac{1}{2}} \varphi_x(u) \cot(\frac{1}{2}u) \{(1+q)^{-n} \sum_{k=0}^n \binom{n}{k} q^{n-k} \sin ku\} du \right\| \\ &= O\{M(1/n)\} + \|J\| \end{aligned}$$

where

$$J = 2 \int_N^{\frac{1}{2}} u^{-1} \varphi_x(u) P_q^n(u) \sin \left\{ n \tan^{-1} \left(\frac{\sin u}{q + \cos u} \right) \right\} du.$$

Now, by using the transformation $u = t = t(\theta)$, we get

$$du = g(\theta) d\theta \quad \text{and} \quad (q + \cos u)^{-1} \sin u = \tan \theta.$$

Hence

$$\begin{aligned} J &= 2 \int_{b(N)}^{b(\frac{1}{2})} t^{-1} \varphi_x(t) P_q^n(t) g(\theta) \sin n\theta d\theta \\ &= \left(\int_{b(N)}^{b(\frac{1}{2})} + \int_{b(N) + \frac{\pi}{n}}^{b(\frac{1}{2}) + \frac{\pi}{n}} + \int_{b(N)}^{b(N) + \frac{\pi}{n}} - \int_{b(\frac{1}{2})}^{b(\frac{1}{2}) + \frac{\pi}{n}} \right) (t^{-1} \varphi_x(t) P_q^n(t) g(\theta) \sin n\theta d\theta) \\ &= \int_{b(N)}^{b(\frac{1}{2})} \{t^{-1} \varphi_x(t) P_q^n(t) g(\theta) - t_1^{-1} \varphi_x(t_1) P_q^n(t_1) g(\theta + \frac{\pi}{n})\} \sin n\theta d\theta \\ &\quad + \left(\int_{b(N)}^{b(N) + \frac{\pi}{n}} - \int_{b(\frac{1}{2})}^{b(\frac{1}{2}) + \frac{\pi}{n}} \right) (t^{-1} \varphi_x(t) P_q^n(t) g(\theta) \sin n\theta d\theta) \\ &= J_1 + J_2 - J_3. \end{aligned}$$

However, by (2.4) and (2.5), we get

$$(4.5) \quad \|J\| = \|J_1\| + O\{M(1/n)\}.$$

We now consider $\|J_1\|$. We first observe that

$$(4.6) \quad \begin{aligned} \|J_1\| &\leq \left\| \int_{b(N)}^{b(z)} \{t^{-1} \varphi_x(t) - t_1^{-1} \varphi_x(t_1)\} P_q^n(t) g(\theta) \sin n\theta \, d\theta \right\| \\ &\quad + \left\| \int_{b(N)}^{b(z)} \{P_q^n(t) g(\theta) - P_q^n(t_1) g(\theta + \frac{\pi}{n})\} t_1^{-1} \varphi_x(t_1) \sin n\theta \, d\theta \right\| \\ &= \|J_{1,1}\| + \|J_{1,2}\|. \end{aligned}$$

Proceeding as in \mathcal{F}_3 of Lemma 4, we may obtain that

$$(4.7) \quad \|J_{1,2}\| = O\{M(1/n)\}$$

and

$$(4.8) \quad \begin{aligned} \|J_{1,1}\| &\leq \int_{b(N)}^{b(z)} t_1^{-1} \|\varphi(t) - \varphi(t_1)\| P_q^n(t) \, d\theta \\ &\quad + \left\| \left(\int_{b(N)}^{b(N) + \frac{\pi}{n}} + \int_{b(N) + \frac{\pi}{n}}^{b(z)} \right) (\varphi_x(t) \frac{t_1 - t}{tt_1} P_q^n(t) g(\theta) \sin n\theta \, d\theta) \right\| \\ &= L_1 + \|L_2 + L_3\|. \end{aligned}$$

However, by (3.2), (3.3), (2.4) and (2.5),

$$(4.9) \quad \|L_2\| = O(1) \int_{b(N)}^{b(N) + \frac{\pi}{n}} t^{-1} \omega(t; f) g(\theta) \, d\theta = O\{M(1/n)\}.$$

$$(4.10) \quad \begin{aligned} 2\|L_3\| &= \left\| \int_{b(N)}^{b(z)} + \int_{b(N) + \frac{\pi}{n}}^{b(z) + \frac{\pi}{n}} - \int_{b(N)}^{b(N) + \frac{\pi}{n}} - \int_{b(z)}^{b(z) + \frac{\pi}{n}} \right\| \\ &\leq \left\| \int_{b(N)}^{b(z)} + \int_{b(N) + \frac{\pi}{n}}^{b(z) + \frac{\pi}{n}} \right\| + \|L_2\| + \int_{b(z)}^{b(z) + \frac{\pi}{n}} \omega(t; f) \frac{t_1 - t}{tt_1} g(\theta) \, d\theta \\ &= \|\mathcal{F}\| + \|L_2\| + O\{M(1/n)\} \end{aligned}$$

where \mathcal{F} is as defined in Lemma 4. Now, collecting (4.5) through (4.10), we get

$$(4.11) \quad \|J\| = O\{M(1/n)\} + L_1 + \|\mathcal{F}\|$$

where, by Lemma 4,

$$(4.12) \quad \|\mathcal{F}\| = O\{M(1/n)\} + O(R_n)$$

and by (2.4) and (2.5)

$$(4.13) \quad \begin{aligned} L_1 &= O(R_n) + 2 \int_{c_n}^{\hat{z}} t_1^{-1} \omega(t_1; f) P_q^n(t) d\theta \\ &= O(R_n) + O(1) \int_{c_n}^{\hat{z}} \theta^{-1} M(\theta) P_q^n(\theta) d\theta = O(R_n) + O\{M(1/n)\} \end{aligned}$$

arguing as in $\|\mathcal{F}_2\|$ of Lemma 4. Combining (4.11), (4.12) and (4.13), we get

$$(4.14) \quad \|J\| = O(R_n) + O\{M(1/n)\}$$

and combining (4.14) with (4.1) through (4.4), we get

$$(4.15) \quad \|E_q^n(f) - f\| = O(R_n) + O\{M(1/n)\}.$$

Finally, we observe that

$$\|\varphi(t_1) - \varphi(t)\| \leq \omega(|t_1 - t|; f) = O\{M(1/n)\}$$

by (2.5). Thus

$$(4.16) \quad R_n = O\{M(1/n)\} \int_{1/n}^{c_n} P_q^n(\theta) \theta^{-1} d\theta = O\{M(1/n) \log n\}.$$

Combining (4.16) with (4.15), we get (2.6). This completes the proof of the theorem.

5 - Corollaries

We deduce two corollaries from the theorem.

Corollary 1. *Let $f \in C_{2x} \cap \text{Lip } \alpha$ ($0 < \alpha \leq 1$). Then*

$$(5.1) \quad \|E_q^n(f) - f\| = O\{n^{-\alpha} \log n\} \quad (0 < \alpha \leq 1).$$

Assume $M(y) = y^\alpha$ ($0 < \alpha \leq 1$) in (2.4). Then (2.5) holds and the corollary follows from (2.6).

Corollary 2. Let $f \in C_{2\pi} \cap \text{Lip } \alpha$ ($0 < \alpha \leq 1$) and let $R_n = O(n^{-\alpha})$ ($0 < \alpha \leq 1$). Then

$$(5.2) \quad \|E_n^q(f) - f\| = O(n^{-\alpha}) \quad (0 < \alpha \leq 1).$$

Since $f \in \text{Lip } \alpha$ ($0 < \alpha \leq 1$) implies that

$$\omega(y; f) = O(y^\alpha).$$

therefore on letting $M(y) = y^\alpha$ in (4.15), we get Corollary 2.

References

- [1] G. ALEXITS, *Über die Annäherung einer stetigen Function durch die Cesàro-schen Mittel ihrer Fourier-reihe*, Math. Ann. **100** (1928), 264-277.
- [2] S. N. BERNSTEIN, *Sur l'ordre de la meilleure approximation des fonctions continues par des polynômes de degré donné*, Mém. Royale Acad. Belgique (2) **4** (1912), 1-103.
- [3] P. CHANDRA, *On the degree of approximation of continuous functions*, Comm. Fac. Sci. Univ. Ankara, Sér A, **30** (1981), 7-16.
- [4] H. LEBESGUE, *Sur la représentation trigonométrique approchée des fonctions satisfaisant à une condition de Lipschitz*, Bull. Soc. Math. France **38** (1910), 184-210.
- [5] A. S. B. HOLLAND, B. N. SAHNEY and J. TZIMBALARIO, *On degree of approximation of a class of functions by means of Fourier series*, Acta Sci. Math., **38** (1976), 69-72.
- [6] R. N. MOHAPATRA and P. CHANDRA, *Hölder continuous functions and their Euler, Borel and Taylor means*, Math. Chronicle (New Zealand) **11** (1982), 81-96.
- [7] R. SALEM and A. ZYGMUND, *The approximation by partial sums of Fourier series*, Trans. Amer. Math. Soc. **6** (1972), 11-18.
- [8] A. ZYGMUND, *Trigonometric series* (Vol. I), Cambridge University Press, London, 1968.

Abstract

Generalising an earlier result due to the present author [3], he has shown as a particular case that the degree of approximation of functions $f \in \text{Lip } \alpha$ ($0 < \alpha \leq 1$) by (E, q) -means of its Fourier series in sup-norm is $O\{n^{-\alpha} \log n\}$.
